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A= (ton) 1/2 1 2 2.8 5
28> (m) ~10 | ~10 ‘ 10~12 | ~6 | 0. |~108 |~96
1, 22R (nm) A | 1000 1000 1000 1000 | 1000
8175228 (nm) B | 250 250 250 250 | 300
7 5% D (m) D | 850 900 950 1000 | 1100
7y 5% D (m) E | 800 800 900 950 [ 1250
S 4 £ (an) F |e00 |650 | 650 | 850 | 850 | 950 | 1000
5 L—> & m) H [900 [900 | 900 900 | 900 | 900 [1000
BEfAY RLESm) [Q1 | 670 [ 670 | 900 | 670 | 900 | 900 |1570
s R Esm |Q1 | 670 [ 670 | 900 | 670 | 900 | 900 | 1395
A JLA— 2 () R |1000 |1000 | 1400 |1000 | 1400 | 1400 | 1400
#£7L —)b(kg) 15 15.22 | 15 15.22
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== (ton) 1/2 1 2 2.8 5
o 9.3 12 16 12 16 11.5 12 16 10.8 12 16 9.6 18
/X8> (m) ~12 |~16 [~20 |~16 |~20 |~12 |~16 |~20 |~12 |~16 |~20 |~18 [~20
Bf1,_E Z2 [ (mm) A 1000 1000 1000 1000 1100 1200
{875 Z= e (mm) B 250 250 250 250 300
77 ZD (mm) D 850 900 950 1000 1100
772D (mm) E 800 800 900 950 1250
7w EHD (mm) F | 850 | 800 [800 |[850 |850 [1100 |1050 |1050 1200 1200 1200 |1300 [1300
7 L—>E=2 (nm) H | 900 | 900 [900 |[900 900 |900 900 |900 [900 |900 |900 [1000 (1000

FXEEIT RILER E (mm) Q1 | 900 (1350 |1550 |1350 1550 | 900 [1350 [1550 [900 (1350 [1550 |1570 |1770

WEEEIY KILR S (mm) Q1 | 900 (1185 |1385 |1185 (1385 | 900 1185 [1385 [ 900 |1185 [1385 [1395 |1595

TR LR —Z (mm) R |1400 [2000 [2400 (2000 [2400 (1400 |2000 |2400 |1400 |2000 2400 |2300 |2700

E1TL—IL(kg) 15-22 22 - 30
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1/2 1 2 2.8 5
(ton)

= R (m/min) 50/60 | 11/13 11/13 8.4/10 7.5/9.0 6.7/8.0

ElE—9—5B2KW) Hz 1.0/1.2 1.9/2.3 2.9/3.5 4.0/4.8 5.9/7.0

#| RE(m/min) 50/60 21/25
17 T—5—B=kW) Hz 0.3/3.36 [0.3/3.36 | 0.3/3.36 |0.45/0.55 10.63/0.75
BRE (m/min) 21/25
50/60

0.3x2%H/ |0.3x2&// |0.3x2&/ | 0.3x2&/ | 0.7x25&/

Tl E—49%—3A82 KW Hz
7 (LA 0.36x2%H |0.36x2& |0.36x25 | 0.36x2&8 | 0.84x2&

B 1F A7 & PR L6 m N1
B R =#1H200V 50/60Hz. 200V 60Hz
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4m om 8m 10m 12m 14m 16m

0.5t 0.68 0.77 0.75 0.83 0.90 0.99 1.11

= 1t 0.93 1.00 1.08 1.15 1.24 1.36

= 2t 1.40 1.43 1.53 1.68 1.73 1.88 2.23

2.8t 1.97 2.08 2.21 2.35 2.48 2.80




